
Berekening bol in water 
 

𝑉𝑉𝑉𝑉 =
4
3
𝜋𝜋𝑟𝑟3 = 0,01149404 𝑚𝑚3 

𝑉𝑉𝑉𝑉 =
4
3
𝜋𝜋𝑟𝑟3 = 0,014137167 𝑚𝑚3 

𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉𝑉 = 0,002643127 𝑚𝑚3 

𝑚𝑚𝑏𝑏𝑏𝑏𝑏𝑏 = 𝑉𝑉.𝜌𝜌 = 0,002643127 . 7860 = 20,775𝑘𝑘𝑘𝑘 

𝑧𝑧𝑧𝑧𝑧𝑧𝑧𝑧𝑧𝑧𝑧𝑧𝑧𝑧𝑧𝑧𝑧𝑧𝑧𝑧𝑧𝑧ℎ𝑡𝑡 𝐺𝐺𝑏𝑏𝑏𝑏𝑏𝑏 = 203,8𝑁𝑁 

𝑜𝑜𝑜𝑜𝑜𝑜𝑜𝑜𝑜𝑜𝑜𝑜𝑜𝑜𝑜𝑜𝑜𝑜 𝑘𝑘𝑘𝑘𝑘𝑘𝑘𝑘ℎ𝑡𝑡 𝑂𝑂𝑂𝑂 = 𝑉𝑉𝑉𝑉.𝑔𝑔.𝜌𝜌𝑤𝑤𝑤𝑤𝑤𝑤𝑤𝑤𝑤𝑤 = 138,686𝑁𝑁 

𝐹𝐹𝜇𝜇 = 𝟔𝟔𝝅𝝅𝝅𝝅𝒓𝒓𝒖𝒖𝒗𝒗 = 2,833𝑣𝑣        (µ = 1,002 𝑚𝑚𝑚𝑚𝑚𝑚. 𝑠𝑠) 

𝐹𝐹𝐷𝐷 =
𝟏𝟏
𝟐𝟐
𝑪𝑪𝒘𝒘𝝆𝝆𝑨𝑨𝒅𝒅𝒅𝒅𝒅𝒅𝒅𝒅𝒅𝒅𝒅𝒅𝒅𝒅𝒅𝒅𝒅𝒅𝒗𝒗𝟐𝟐 =

1
2

0,47.1000(𝜋𝜋𝑟𝑟𝑢𝑢2)𝑣𝑣2 = 16,61𝑣𝑣2 

Terminal velocity wordt bereikt als Fnetto=0 

𝑮𝑮 − 𝑶𝑶𝑶𝑶− 𝑭𝑭𝝁𝝁 − 𝑭𝑭𝑫𝑫 = 𝟎𝟎 

203,8− 138,686− 2,833𝑣𝑣 − 16,61𝑣𝑣2 = 0 

𝟏𝟏𝟏𝟏,𝟔𝟔𝟔𝟔𝒗𝒗𝟐𝟐 + 𝟐𝟐,𝟖𝟖𝟖𝟖𝟖𝟖𝟖𝟖 − 𝟔𝟔𝟔𝟔,𝟏𝟏𝟏𝟏𝟏𝟏 = 𝟎𝟎 

𝑣𝑣 = 1,896 𝑚𝑚/𝑠𝑠 

𝑡𝑡 =
55

1,896
= 29 𝑠𝑠𝑠𝑠𝑠𝑠 

 

 

 


